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Choose the correct option :
1w A T A |
() TR (B) et (C) Wi (D) HarfPrefefie”
Unit of molarity is :
(A) gnvlitre (B) molefitre (Cymole - (D) mol/m}

2. 0,39 BT PR Y- | ol
(A)0 (B)3 (©)2 D)1
Bond order c-t'()2 molecyle js :
(A)0 (B)3 ©)2 ©)1

3 CI7 S 3 S ot v o 2
(A)40 ®)17 ©)18 ©)3>
Number of electrons in C}- ionis:
(A)40 ®B)17 ()18 D)35

4. P(WR®RY) B i fimrg 3
(A) 1522522p3 (B) 152252p°3573p*
(@) 1s22522p53s23p3 (D) 157252p°3573p’
Electronic configuration of P(phosphorous) is :

(A) 1s2s22p? (B) 1522522p°3523p*

(©€) 1322322p63523pj (D) 1522s22p®3s?3p°

5. 85 %RIS B TsiiE Woaa § R ' _
(A) 8.5 x 108 (B) 8.5 x°10° (C) 8.5 x 107 (D) 8.5 10°

85 crore is written in scientific method by: 3
(A) 8.5 x 10¢ (B) 8.5 x 108 (C) 8.5 x 107 (P 85x%x10



9. TP T BT IRV B9 20 ¥) 98 T mmﬂw(aﬁ)

reveeenen. T T SR 1
One element has atomic ﬁumber 20. Itstands in the periodic table in column (group)no. oo
Praferfas o1 gaftm SIRR- Match the following :
10.  3iferdirewor 3iw i gfy Tt 16 1
1. ST TR0 B 114 !
12. 4 Ao
1
13. SeteE AU
10. Increase in oxidation number group 16
11. Capture of electrons group 14
12. Carbon oxidation
13. Oxygen reduction |
14. Fr=faRad @1 3 TR B 989 7Y 34 arqRaa BRk-

6. T H Fram aafyg - 1
A
(A) 3™ B R (B) ey ﬁ%
C
( }&ﬁﬁmwﬁvﬁaﬂq (D) 1 1 3T 9 2@
Hess's ruje is related (g :
A)R i
(A) Rate of reaction (B) Equilibrium constant
(8] Change in reaction enthalpy (D) Volume and pressure of gas
7. ﬂﬁgﬁmmﬁaqﬁmmamnﬁa - |
(5} AH] ey (B) 9¥H19] TeqmH
(C) T& Tiey <y (D) f& e wiew viem
Modem Periodic law jg based on
(A) Atomic number (B) Atomic mass
(C) Principle quantum number (D) Azimuthal quantum number
R o=t oy T BRI~ Fill in the blanks :
&,

Electron efficiency of innert gases.is

---------------------

Arrange the following in increasing order of jonisation enthalpy.
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18.

19.
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Find out the number protons and nutrons i the nuclenses of following elements.
(2) (O (b) 3, Se¥
A R F@E ?
What is photon,
3d' e D forg 30 wRl qien w3l @ T g HRA)
Find out the values of all four quantum number of 3d! orbital,
TRV} 4 T W IR WHIEA | |
Describe the difference between atom and ion.
e 7w B AR B AR WereRw SRR 7 I 3 B aard)|
Give the four examples of exaption ol octate rule and give the reason for it

(Tvs-w)
(i) s.p. d Ternl Y amagfval S0 % ¥ R 792
(ii) AT B o g nica o R amr=dy) -

3l

(i) IR & g Rigr o R g wasmEa
(if) TrEIo Rrae o Ry il o1 R 7wz
(i) Tell about the shapes of s.p.d orbitals and draw the diagrams.
(1) Draw the diagram of plum puding model of Thomson.

OR
(1) Explain the Rutherford's atomic theory with diagram.,

(i) Give the diagram of various series of hydrogen spectruem,

: ﬁﬁ%ﬁgﬂﬁi@iﬁ?ﬂ%@ﬁtﬂ%ﬂmmﬂmﬁﬁﬁl

Find out the oxidation number of followin
(2) MnO, (b)K,Cr,0,
(d) H(_Z‘_II[),1 ~ (e) H,PO,

g underlined elemenys,
(c) KMnO,
N0,

I
%Wmﬁmﬁﬂdﬁﬁmﬁﬁ%aﬂm|
_Balance the following equation by ion-clectron Method,

MOy + Fe? —_, M2 + e

14 l r;2

] .
¥

2+1=3

2+1=3

14x6=3
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Acidic medium
» (nNH3aq1#%=éTﬂﬁrﬁﬂ?#ﬁﬁﬁﬁﬂ1Gﬁﬁu1%ugﬁﬂiﬁaﬂﬂT!ﬂ?‘Hq3ﬁ§ﬁl
Explain the structure of NH3 molecule on the basis of valence bond theory.
(if) O, 31T B T Wy Y I wares R B YR W wwEs )
Explain the paramagnetic nature of O, moiecule on the basis of molecular orbital theory.

{4l

(i)ﬁﬁl%rﬁaaﬁﬁm%wrﬁaaﬁmm%mww
0,,0,,0,

Explain the stability of following s
0,,0,%,0,

{ii)NHzamHlomsﬁﬂwmﬁwaﬁmw%amﬁﬁm

242=4
Explain the difference in bond angle in NH, and H,0 with reason.

242=4

pecies on the basis of bond order.
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